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LEARNING OBJECTIVE o v

 Enable the students to understand
how to do the word problems on

money.
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7) Suraj had X 672.25. he gave a friend X 350.50 for some urgent work. How much money
does Suraj have now?

SOLUTION : Suraj had money = X672.25 z D
He gave money to a friend = ¥ 350.50
He has money now = X 672.25 — X 350.50 = X 321.75 672 25
- 350 50
321 75

So, Suraj has X321.75 money now.
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8) Esha had X 325. She did shopping for X 275.50. how much money is left with her now?

SOLUTION : Esha had money = X325 z p
She spent money on shopping = X275.50 21114 10

She has money with her now = %325.00-%27550 =X49.50 2> B0

- 275 50

049 50

So, she spent total X 49.50 money in shopping.
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9) Charles went to market with X 500 in his packet. He bought a pastry for X 67.50 and a
burger for X 110.75. how much money Charles is left with?

al p
SOLUTION : Charles had money = % 500.00 1
110 75
He bought a pastry = X67.50
+ 67 50
He also bought a burger = X110.75
Total money spend by him = ¥110.75+%67.50 = X178.25 178 25
A p
He has money now = ¥500.00-%178.25 =X321.75 499 910
5606 606
- 178 25
321 75

So, X 321.75 is left with Charles.
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10) Mohit went Delhi and he bought a ticket to enter a water park for X 450.75. He gave a
note of X 2000 at the ticket centre. How much money was returned to Mohit along
with the ticket?

SOLUTION : Mohit gave total money = X 2000.00

< p
The rate of the water park ticket = X 450.75
1999 910
The total money he will get back = X2000.00 -%X450.75 =X1549.25 -2000- ©0-
- 450 75
1549 25

Thus, X1549.25 was returned to Mohit along with the ticket.
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LEARNING OUTCOME: o v

Students are able to understand how to solve the word
problems on money.
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